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Oexsampled SeqlOO0 O Seqin/Out0 000 000O00O0OOOOOOO
O01.seqOutD 00 01000000000D0O0ODO

0 0 2. SeqOut/InC Eclipse 0 0 0 0 0 O O O O All Activated

000 0O O type:periodicd rate:10 100 m_skipn:90

0 0O 3. SeqIn0 Deactivate -> Activate O 0 0 0 0 O
000000000 SeqinDO0O000O0Ooooo

m m pushFifo)0 0000000

0 O SeqInO Deactivate -> Activate 0 0 BUFFER_FULLO O OO OOOOOOOOOOOOOO

Oe 00O

00 put()0 O 00 O O m_buffer->advanceRptr()0 0 00 000 00000000000000000

De OO
0 O PublisherPeriodic.cppl pushFifo)U OO0 O put)U O 00 Oreturn0 000000

ooooo {

RTC_TRACE(("pushFifo()"));

const cdrMemoryStream& cdr(m_buffer->get());
ReturnCode ret(m_consumer->put(cdr));
m_buffer->advanceRptr();

returnd ret;
oo}

I
RTC_TRACE(("pushFifo()");

/0000 >

if (m_buffer->empty() && !'m_readback) {
RTC_DEBUG(("buffer empty"));

return BUFFER_EMPTY;

}

/0000 <--

const cdrMemoryStream& cdr(m_buffer->get());
ReturnCode ret(m_consumer->put(cdr));
/0000 --->

if (ret I= PORT_OK) {

return ret;

}

/0000 <---

m_buffer->advanceRptr();
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return(d ret;
oo}
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m m pushSkip)ODOOOOOOO

0 O SeqInO Deactivate -> Activatel 0 O BUFFER_FULLO 0 000000000000 OOOO

Oe 00O

OO0OBUFFER_ FULLOOOOOOput)D 0O O0OO0OOOOOOOOOOOOOOOOOODO

Oe 00O

0 O PublisherPeriodic.cppl pushSkip)U O O OO0 O0Ooooooog

ooooo |
static int leftskip; /00000000

RTC_TRACE(("pushSkip()"));

0 0 O O intO preskip(m_buffer->readable() -0 leftskip);

ifd (preskipC < 0)
oof{

00000000 m_buffer->advanceRptr(m_buffer->readable());

00000000 leftskipd =0 -preskip;

00000000//0 thisO causesd empty()0 ==0 true

ooooooy

O0O00Oelse

oof{

000000004 m_buffer->advanceRptr(preskip);
ooooooy

if0 (m_buffer->empty())

oo{

00 000000RTC_DEBUG(("bufferC) empty"));
00000000 returnd BUFFER_EMPTY;
oooooo}

constl cdrMemoryStream&[1 cdr(m_buffer->get());
0 0 0O O ReturnCodel ret(m_consumer->put(cdr));

int0d postskip(m_skipnO -0 m_buffer->readable());

ifd (postskipO < 0)

oo{

0000000 Opestskip:] =0
8-8-8-8-8-8-8+>advanceRptr(m_buffer->readable());
ooooood

OO0O0Oelse

oo{

00000000 m_buffer->advanceRptr(m_skipn);
oooooo}

return ret;
oo}

I o o o
static int leftskip; // 00000000
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RTC_TRACE(("pushSkip()"));

//00000-->

000 Oif0 (m_buffer->empty()0 &&O 'm_readback)
oo{

00000000RTC_DEBUG(("bufferC) empty"));
00000000 returnd BUFFER_EMPTY;
oooooo}

ReturnCodel ret(PORT_OK);

00 0O O intO preskip(m_buffer->readable()0 +0 leftskip);

0 0 O O intd loopent(preskip/(m_skipnO +1));

00 O O intO postskip(m_skipnO -0 leftskip);

000 0O forO (intd i(0);0i0 <O loopent; O ++i)

oo{

00000000 m_buffer->advanceRptr(postskip);
00000000 constd cdrMemoryStream&O cdr(m_buffer->get());
00000000 retd =0 m_consumer->put(cdr);

0000000 O0iO (retd =0 PORT_OK)

oooooof

000000000000 m_buffer->advanceRptr(-postskip),0 0 /0 00000000000
00000000000 D  returnd ret;

ooooooooood

00000000 postskipO =0 m_skipnO +1;

ooooood

m_buffer->advanceRptr(m_buffer->readable());
0 0 O O leftskipd =0 preskipO %0 (m_skipnO +1);
//00000<-

return(d ret;
oo}
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